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1. The following data coFFEEDRINK represent the calo-

ries and fat (in grams) of 16-ounce iced coffee drinks at
Dunkin’ Donuts and Starbucks.

Product : ‘ Calories Fat
Dunkin’ Donuts Iced Mocha Swirl latte |
(whole milk) 240 8.0
Starbucks Coffee Frappuccino blended
coffee 260 35

Dunkin’ Dovnuts Coffee Coolatta’(cream) 350 22:0
Starbucks Iced Coffee Mocha Expresso

(whole milk and whipped cream) 350 200
Starbucks Mocha Frappuccino blended
coffee (whipped cream) 420 160

Starbucks Chocolate Brownie
Frappuccino blended coffee

{whipped cream) 510 220
Starbucks Chocolate Frappuccino
Blended Créme (whipped cream) . 530 - 19.0

Source: Extracted from "Coffee as Candy at Dunkin’ Donuts and

Starbucks,” Copyright © 2004 by Consumers Union of U.S., Inc.,

Yonkers, NY 10703-1057. Adapted with permission from Consumer
" Reports, June 2004, 9,

For each variable (calories and fat),

a. Compute the mean, median, first quartile, and third
quartile. (#6288 5 %)

b. Compute the variance, standard deviation, range,

interquartile range, coefficient of variation, and Z ~

scores. Are there any outliers? Explain. (3t48 5 4)
c. Are the data skewed? If so, how? (#LAE 5 %)

2. A sales and marketing management magazine con-
ducted a survey on salespeople cheating on their expense
reports and other unethical conduct (D. Haralson and Q.
Tian, “Cheating Hearts,” USA Today, February 15, 2001,
1A). In the survey, managers have caught salespeople
cheating on an expense report 58% of the time, working a
second job on company time 50% of the time, listing a
“strip bar” as a restaurant on an expense report 22% of the
time, and giving a kickback to a customer 19% of the
time. Suppose the survey was based on a sample of 200
managers. Construct a 95% confidence interval estimate
of the population proportion of managers who have caught
salespeople

a. cheating on an expense report. (328 5 2°)

b. working a second job on company time. (gL 28 5 5+)

c. listing a “strip bar” as a restaurant on an expense repott. (34§ 5 %)

d. giving a kickback to a customer. (#bRE 5 4%~)
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3. Money worries in the United States start at an early age.
In a survey, 660 children (330 boys and 330 girls) ages 6 to
14 were asked the question, “Do you worry about having
enough money?” Of the boys surveyed, 201 (60.9%) said yes,
and 178 (53.9%) of the gitls surveyed said yes (Extracted
from D. Haralson and K. Simmons, “Snapshots,” US4 Today,
May 24, 2004, 1B). At the 0.05 level of significance, is the
proportion of boys who worry about having enough money
greater than the proportion of girls? Using the 0.05 level of
significance, for the one-tail test in the upper tail, the critical

value is +1.645. (st28 5 4°)

4. You predicted the durability of a brand of running
shoe based on the forefoot shock-absorbing capability
and the change in impact properties over time. The regression
analysis resulted in the following ANOVA summary table:

Degrees of Signifi-
ANOVA * Freedom Ss MS F cance
Regression 2 12.61020 6.30510 97.69  0.0001
Error 12 *10.77453  0.06454
Total 14 13.38473

a. Determine whether there is a significant relationship
between durability and the two independent variables at
the 0.05 level of significance. (3LAR 5 %)

b. Interpret the meaning of the p-value. (#28 5 4°)
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For a particular combination of numerator and denominator degrees of freedom, enlry represents the critical values
of F corresponding to a specified upper-tail area ().
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1. T3 &A% % (Marginal Rate of Substitution) ? £

Numerator, df,
Denominator
df, 1 2 3 4 s 6 7 8 9 10 12 15 20 24
1 16140 19950 21570 224.60 23020 23400 23680 23890 24050 241.90 24390 24590 24800 249.10
2 18.51 19.00 19.16 19.25 19.30 19.33 1935 1937 19.38 19.40 19.41 19.43 19.45 19.45
3 10.13 9.55 9.28 9.12 9.01 8.94 8.89 8.85 8.81 8.79 8.74 8.70 8.66 8.64
4 n 6.94 6.59 6.39 6.26 6.16 6.09 6.04 6.00 5.96 5.91 5.86 5.80 577
5 6.61 5.79 541 5.19 5.05 495 438 4.82 4.7 4.74 4.68 462 « 456 4.53
6 5.99 5.14 4.76 4.53 4.39 4,28 421 415 4.10 4.06 4,00 3.94 3.87 3.84
7 5.59 474 4.35 4.12 397 3.87 3.79 n 3.68 3.64 .57 351 344 341
8 532 446 4.07 3.84 369 358 3.50 344 339 335 3.28 3.22 3.15 312
9 5.12 4.26 3.86 3.63 348 337 3.29 3.3 3.18 3.14 3.07 3.01 2.94 290
10 4.96 4.10 3.71 3.48 333 322 3.14 3.07 3.02 2.98 2.91 2.85 2.77 2.74
11 4.84 3.98 3.59 3.36 3.20 3.09 3.01 2.95 2.90 2.85 279 272 2,65 2.61
12 4,75 3.89 3.49 326 3.11 3.00 291 2.85 2.80 2.75 2.69 262 . 2.54 251
13 4.67 3.81 341 3.18 3.03 2.92 2.83 2.71 2.71 2.67 2.60 2.53 2.46 242
14 4.60 3.74 3.34 311 2.96 2.85 2.76 2.70 2.65 2.60 2.53 2.46 239 2.35
15 4.54 3.68 3.29 3.06 2,90 2.79 2.7 2.64 2.59 2.54 2.48 2.40 2.33 229
16 4.49 3.63 3.24 3.01 2.85 2.74 2.66 2.59 2.54 2.49 2.42 2.35 2.28 2.24
17 445 3.59 3.20 2.96 2.81 2.70 2.61 2.55 2.49 245 2.38 231 2.23 219
18 441 3.55 3.16 2.93 2.77 2.66 2.58 251 246 241 234 227 2.19 2.15
19 4.38 3.52 3.13 2.90 2.74 2.63 2.54 248 242 238 2.31 223 2.16 2.11
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